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Run 1, Rate vs. Thickness
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PlotPadelO[{"ParameterTable"}]
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Run 2, Rate vs. Thickness
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Estimate Standard Error t- Statistic P-Value B

Out[4s5)= |
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Estimate Standard Error
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Estimate Standard Error
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Relative Rate (Hz/uA)
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Rvs. Trunl

R(t) = bt + b,*t® + b,*t’
b, = 149.6616 + 11.7665

b, = 4.9994 +52.2988

b, = 35.6881 + 50.4641
%2 (3.5036) / v (7) = 0.5005
Probability = 0.835

R(t) = b 't + b*t’

b, = 143.0076 + 6.8949

b, =41.2976 +12.9278
%2 (4.0394) / v (8) = 0.5049
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Relative Rate (Hz/uA)
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RvsT run 2

R(t) = bt + b,*t® + b,*t’
b, = 138.7480 + 10.8624
b, = -2.3608 + 49.4593
b, = 45.7421 + 48.8776
%2 (3.2075) / v (7) = 0.4582
Probability = 0.865

| x#18.1683) / v (8) = 0.5210

R(t) = b 't + bt

b, = 130.6501+ 6.3582

b, = 43:3579 + 12.0048

Probability = 0.842
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Root vs. Mathematica
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Pade (2,0) 144

Pade(1,1) 0.145
Pade{16} 8164
Pade (2,0)  0.131
Pade(1,1) 0.133
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0.005 3.97e-5 0.54
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Reduced ¥2 value

Root vs. MM, chi sq, Avs. R
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